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600 At=+2 6,559,000 6,559,000
610 9 4,171,000 4,171,000
616 CHEYALY 4,171,000 4,171,000
03 HEfCHHAL 4,171,000
O SQIEITHRAY  (187HAMY) 4,171,000
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*HFEAO|MFXXAS ALY 161,500,000 8,500,000 170,000,000
 CF M AN 2 K| A S 2 ALY 334,800,000 25,200,000 360,000,000
s GRS EX AT EAY 171,000,000 9,000,000 180,000,000
HFESY RS e dotAry 171,000,000 9,000,000 180,000,000
s Roprt=Hord I E 42,750,000 2,250,000 45,000,000
oA EZ EOHA E X ALY 85,500,000 4,500,000 90,000,000
N FE YRR EM A RIALY 171,000,000 9,000,000 180,000,000
c HEY AKX JALY 368,280,000 27,720,000 396,000,000
c X2 AT E K| H ALY 558,000,000 42,000,000 600,000,000
c S ERHESEHER X HALY 570,000,000 30,000,000 600,000,000
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O Ze@3/69) 163,249
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- 43 102 E201) 2,491,5008 * 12¢ * 1@ = 29,898
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- 58 53 =2338) 2,067,700¢ * 128 * 39 = 74,437
- 53 7EE(Y) 2,126,3008 * 12¢¥ * 1Y = 25,516
- 53 8T E(1Y) 2,155,6008 * 12¢ * 1Y = 25,867
- 53 63 E(4Y) 2,097,000 * 128 * 49 = 100,656
— — - 53 9B E(5H) 2,184,900 * 108 * 5 = ;Zz,ig(s)
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- 382, 42, 52(129) = 17,864
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2I1H2E =3 (65/10F) 277,062
- 62 13 2(109) 1,794,400 * 128 * 10 = 215,328
- IEsY 60,000 * 122 * 10 = 7,200
- SAEXH| 100,0008 * 12¢¥ * 108 = 12,000
- A gE | 125,0009 * 12¢ * 108 = 15,000
- Mog 1,794,4009 * 60%* 10Q * 23| = 21,534
- A2 = 6,000
LARSE= v 62,473 62,473
O EHxZ9o 53
- El2go Y= = 62,473
Isd 7|23 718,409 718,409
=@ YHHAEH| 718,409 718,409
2| S MH| 155,768 155,768
O 24| 8,000& * 10%| * 209 * 128 = 19,200
O ME4X = X|H| 50,650
- 7|2EXE442E) 900,000 * 42 = 37,800
- 2SEXES(209) 10,0009 * 20 = 200
- 715 EXE4209) 4,650
- Hf A SX|™ES 100,0008 * 328 = 3,200
- AMAHE SX|™= 50,0009 * 159 = 750
- EMAE SX|EH 100,000 * 7Y = 700
- EMFGES 2,000,0008 * 48 = 8,000
O ZFUASEHH 7|HRE2 899,622,0009 * 45% = 40,483
O ZUHZEH 7[R 899,622,000 * 3.12% = 28,069
O EAEIIQYEH 7R 28,068,206% * 7.38% = 2,072
O MAMSiEMEH 7| 899,622,000€ * 0.8% = 7,197
O 18Edr 7|aRHa 899,622,0009 * 09% = 8,097
ofH| 36,080 36,080
O =W oiy| = 25,600
- ZHLofH| 20,0009 * 32 * 153 = 9,600
- #elojH| 250,000& * 328 * 23] = 16,000
O dlielofH]| = 10,480
- s 2ofH| 1,310,000 * 2@ * 43| = 10,480
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330 U AH| 27,621 27,621
O YEtHE UEE 1,200
O (AUBAHAAAOHESEHEA 1,500
O A HZE ESERE 1,000
O M3zt & 2lyul 10,000
O HOIM(HZSEFOA) 1,600
O SEWHREF 500
O F7HA 9,021
O Rt-SXHA| 2,000
O 2XKSMS)0|8=2 800
S+ 2 EH| 78,000 78,000
O M7= 6,000,0008 * 128 72,000
O dot=ZA 500,0008 * 12¢ 6,000
2D EH| 55,100 55,100
O 7|2ANREE TFUH|(A4,L2E) 1,000,000 * 128 12,000
O AFR717| |X|H| 400,0008 * 12¢ 4,800
O AREATEQ0] YA 500,000& * 329 16,000
O EHTY 21,000
- CIXI2 S AL7|(Z2h 600,0008 * 128 7,200
- SHoEly 400,000 * 128 4,800
- WA 250,0008 * 12¥ 3,000
- CGIEHTY 500,000 * 128 6,000
O ZEHES 7L 100,0008 * 12¢ 1,200
O HoS7IESE U AUZTYM EF 1,0008 * 28 * 503 100
o] SH| 1,800 1,800
O g W Aldazlg ogEs1Y 300,0009 * 6 1,800
EMoIAH| 12,220 12,220
O gFfad METLY 100,000 * 12¥ 1,200
O Ts¥ /OE HZEHE 2,000,000 * 13 2,000
O ZUXtE QIfH| 8,000¥ * 1008 800
O HHALR LA RRAZHE & 15,0008 * 608 * 23] 1,800
O &8 & 3 Mt fols 30,0008 * 305 900
O O|ALz| 3|o|XtE 8,000¥ * 62| * 1008 4,800
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UUX ME AEE * = 720

20,400 20,400
K AXE * 10,800

SAZ] R MEH7| AXtE * = 9,600

48,600 48,600
O Zgd #eHl FHHE =4[ X|H| * = 24,000

O M 0|X| |X[L£==H] * = 5,400

O TAAAH” ZE2RE FX| 2| * = 19,200

7,200 7,200
O X FFH 60,0009 * 10%] * 7,200

10,000 10,000
O 48 3 ¥ HIMESHCGIZS) 6,000

O Atz w8z 4,000

94,100 94,100
O ZitHAeRE 3,000,0008 * 13| 3,000

O AE2AHTE 8 5,000,0008 * 23] 10,000

O 2YR(E 650,000 * 12 7,800

O H™7|9IE 950,000 * 12¢ 11,400

O HAXBUAEES 20,000,000 * 14 20,000

O dH|8 400,0008 * 63| 2,400

O Z=Z#e|HE 600,0008 * 12¢ 7,200

O FeolzH|(2¢oh 1,500,000 * 12¢ 18,000

O HEIXEZE(HMBAL LR AL A A 300,000 * 3% * 12¥ 10,800

O N$Z EAHE 500,000 * 23 1,000

O HM3tx HAHE 2,500,000¢ * 13] 2,500

20,400 20,400
O 7| #2FLEFTH| 20,400
7|28 dEFTH| 900,000& * 128 = 10,800

MR e e ]| 800,000& * 128 = 9,600

8,560 8,560
YT AR 80,0009 * 329 2,560

M2 Y| 6,000
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- BRI E YRH| 100,000 * 128 = 1,200
- nSRYE YRH| 100,000 * 128 = 1,200
- ZSHIYE YR 100,000 * 128 = 1,200
- CGIHH2YE Y| 100,000 * 128 = 1,200
- S E YR 100,000 * 128 = 1,200
ng S| 16,000 16,000
O AFZA £2d 8HLs 1,600,000 * 13 = 1,600
O =EEY AFus 150,0008 * 13| * 328 = 4,800
O ¥ g7 24 u=s 150,0008 * 13| * 328 = 4,800
O d881E7 us 150,000€ * 13| * 32 = 4,800
HALS EH| 12,000 12,000
O 1T 500,000 * 23| * 12¥& 12,000
3|9l 2EH| 23,560 23,560
O E7l, YAIO|AZ| Z[olH| 13,600
- 2ol 200,0008 * 11 * 43| = 8,800
- 2|olH| 20,0008 * 309 * 43| = 2,400
- 23R 200,000¥ * 3% * 43| = 2,400
O MFS&2A2 29| 5,280
- 2ol 100,000 * 10 * 33| = 3,000
- 2|olH| 20,0008 * 18 * 33| = 1,080
- ¥R 200,000 * 2% * 33| = 1,200
O Mgsd Y 2 2oH|(RAAJ2]) 4,680
- HAEY 100,000 * 7Y * 33 = 2,100
- 2|9l 20,0008 * 13 * 33 = 780
- 3R 200,0008 * 3% * 33 = 1,800
2da 9,000 9,000
O H34 W AYYIY HH2Y = 3,000
O RO A 5 HHEY = 3,000
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O o A7XEed & HHeY 3,000
Al2H| 15,000 | 01 A|4dH]| 15,000
O CGIZY YWHAE BT A 15,000
NS Bl 67,000 | 01 XpAHE SH| 67,000
O YR8 TY 35,000
O HYHEFE) 5,000
O 2| HYFE) 3,000
O PC(HFE) 23,000
O IiE[H 1,000
I Z3HHY S STHEIF 2|0l 2 71X = 3 4,171,000 4,171,000
EAH O M F X ES S K 935,000 935,000
HZFEZAHIOIF XX BS2ALY 170,000 170,000
oz A Y RO 100000 | O MFEAH 0| =EF MZHl X[ 80,000
O 712hg X|¥ 20,000
H At H 1200 | O dAsE 100,000 * 3 * 43 1,200
o H 9360 | O &tLioiH| 20,0008 * 2 * 33| * 10¥ 1,200
O 22lofH| 260,0008 * 2% * 83| 4,160
O dsielofH]| 2,000,0009 * 2H 4,000
gl o 2 @ H 2400 | O EAHOIMRKX 2[o| A 7HEZ 400,000¢ * 63| 2,400
I = 9 * 5 8800 | O At AUX= 800,0008 * 11¢ 8,800
¥ 8 X oH 4800 | O XtERFH| 200,0008 * 2Cf * 12¢ 4,800
@ A B E H 33600 | O =WHZAOM A 7|t SSALEH]| 10,000
O EZO|M A A &I X JHE|HH| 3,600
O HFO0 2FZH| 5,000,000 * 43| 20,000
= M f§ X H - | O EAHO|M FH| |X|EH 0
71 Bt X = 4| 1340 | O 7|Et2EZEH| 1,340
= &= = 8500 | O 37| &CHA =2 (ALRIH[2|5%) 170,000,0008 * 5% 8,500
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ALY - MIBALY - HES Of| AF(SF) MEI X
ChF 4 Ao =X 2 S B ALY 360,000 360,000
o7 AR Y X M 302,000 | O CHEM F=tr| 2K
- AHEI XS A 50,000 B 35,000 C 20,0008 &I 150,000
- BHE S AMRETE AE RS K@ A 25,000 B 20,000 C 15,0008 & 80,000
O CHY 8= atx| ¢
- ZHIs 538 XEX 30,000,000 * 1H 30,000
- CHHIS 529 KSR 5,000,0009 * 3H 15,000
O Aluzleszd
- CHA& 7,000,00094 * 14 7,000
- X 5,000,0009 * 2H 10,000
- R 2,000,0008 * 2H 4,000
O T +=F3tN &K 500,000 * 12E 6,000
3 o & 9 4 13600 | O MA=E
- CHy 400,000 * 5% * 23] 4,000
- AlLtg|e 1,200,000 * 5 6,000
O dALOIH]| 200,0002 * 59 * 33 3,000
O 2|oH| 200,000 * 33| 600
T M 9 2 H 2,000 | O MAFXFE A A 50,0008 * 10& * 33| 1,500
O AL 3 HFE HE 100,000 * 53 500
d A B E 4| 15000 | O 7|Et AUt =274 5,000,000 * 33 15,000
9 Hi 1,500 | O 2HLHOIH]| 20,0009 * 103 200
O #elofH| 260,000 * 53] 1,300
S35 XM 200 | O YEHIRBHEWSE 20,0009 * 10%] 200
2 2 E 4 500 | O AFREE T 50,0002 * 109] 500
T = =2 25200 | O 37| HCHE =2 (AFRIH]27%) 360,000,000 * 7% 25,200
SRS EX| S EALY 180,000 180,000
o ZE AR Y X 163,600 | O Y& 23t SYX| & 32,720,000 * 57 HAHKXIS X F) 163,600
3l o & @ H| 3200 | O MAeY 400,00094 * 5% 2,000
O dALOH]| 200,0008 * 5& 1,000
O 2|2lH| 200,000 * 13 200
5 M o A 4| 300 | O MAKIEH|ZE 30,000 * 10 300
2 2 E 4 300 | O AHREE FYH| 50,0008 * 63 300
= A = 3600 | O ME7F ZLIE HIH| 150,000 * 39 * 53 2,250
O EQZLH HIty| 45,0009 * 6% * 53] 1,350
ES ES 2 9000 | O B7| M2 (A YH|2|5%) 180,000,0008 * 5% 9,000
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HESMER =R Ede 180,000 180,000
A B 2| 42400 | O SEME MZ 5 Hj= 350,0008 * 123 4,200

O 4% MEAAZRZ|ZHD) 3,500,000 * 21,000

O 718dd 22| 500,0008 * 63 3,000

O DVD T¢H| 350,0008 * 123 4,200

O et E & M= 5,000,000 * 10,000

I = 9 * 5 120000 | O &Fa Xtz 250,000 * 403 * 128 120,000

o Hi 7,000 | O ELHOIH]| 20,000& * 19 * 25%|*1271 & 6,000

O 220 250,000 * 2 * 23] 1,000

= M f X H 1,000 | O EH|FX|EH]| 1,000

2~ B F 600 | O AFR8E TYH| 50,000 * 123 600

&= &= = 9000 | O 37| &= (AFRIH|2|5%) 180,000,0008 * 5% 9,000
#orzteyord 3 HE 45,000 45,000
d A B E H 37250 | O SEEH Xtz 968,750 * 7,750

O 7|2 FTIH| 3,250,000 * 26,000

O ==TYH| 100,000 * 500

O 22tel sEH| 3,000,000 * 3,000

gl o 2 @ H 600 | O 7HEE| 2|olH] 300,000 * 600

o H 1,000 | O ELHOH| 20,000 * 19 * 320

O 22|0fH| 340,000 * 1Y * 680

N 400 | O ZIAFFH| 50,000 * 83| 400

= M F X 4 500 | O SHIFX|E==H| 500,000 * 13| 500

E M QM 3000 | O 8E= Ql24H| 3,000,000 * 13 3,000

) S H 2250 | O 37| 2= (AFRIH|2|5%) 45,000,000 * 2,250
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7|8 FHRALY - THIALY - M BEALY - HE S Ol AFSH L

23rA]EX A 2,216,000 2,216,000

EEEESEOI E X 90,000 90,000
DIZEAS R 70,000 | O X|&H|

- SEOFE XY 5,000,000 * 147} 70,000
3|02 FH| 6,000 | O 2|2lH|

- MBI 200,0008 * 33| * 5% 3,000

- MEJLol| 200,0008 * 23| * 5 2,000

- 3ol 200,000 * 53] 1,000

Of Hj 1,000 | O =LHOIH| 200,0008 * 121 * 53] 1,000

AR EH| 500 | O AFRE&&TYH| 50,000 * 10 500

HALZ H | 3,000 | O HALZEH|

- HARY AlM B EX(H| 1,000,000 * 23 2,000

- 0 MHY| 500,0008 * 23] 1,000

INF=Re 5000 | O SHQIYHMA L5 1,000,000 * 5747| ¢ 5,000

aig 4,500 | O &7| 2l === (AL H[2|5%) 90,000,000¥ * 5% 4,500

P s S el wal e NN 180,000 180,000

HALZ HH| 10,000 | O HAIEZH/ZEH| 5,000,000 * 23| 10,000
DIZEA R 130,000 | O X|-AH]

- 7| X & 25,000,000 * 474EHE 100,000

- 32 HH 30,000,000 * 13| 30,000
3|02 FH| 16,000 | O 2|2|H]

- Mol 400,000 * 53| * 5 10,000

- AlojojH| 200,000¢ * 33| * 5 3,000

- 2|9l 30,000 * 109 * 103 3,000

A elafH| 2,000 | O XEX EH]| 20,0009 * 50H *23| 2,000

Of Hj 3,000 | O =LHOIH]| 250,000 * 291 * 43| 2,000

O ZUWEEOH| 20,0009 * 291 * 253] 1,000

2B EH| 1,000 | O AEEEYH| 100,000& * 103 1,000

X2 LAE 9,000 | O TA=2l/2E23Ut2YES 9,000,000 * 13 9,000

FE 9,000 | O 7|l == (AL YH|2|5%) 180,000,000& * 5% 9,000
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of| £(2h -
X AL 396,000 396,000
2|02 | 25,000 | O 2|9lH|
- dojsg 400,0008 * 5% * 42| 8,000
~ AlojoiH| 200,000 * 59 * 43| 4,000
- 2%t Y 400,0002 * 5% * 53 10,000
- 2|9l 30,000 * 10 * 103 3,000
M QI2HH| 4,000 | O =AMQIaHH|
- XEHE 1,000,000 * 23] 2,000
- QI = A& 20,0008 * 503 * 23] 2,000
Of Hi 3,000 | O =LHOIH]| 250,0008 * 291 * 43| 2,000
O ZUW=EZ0H| 20,0009 * 291 * 253| 1,000
2 EEH| 1,280 | O MR EETYH| 128,000 * 103 1,280
ns2 | -
DIZEAF R 320,000 | O &YX AH| 40,000,000 * 87§ ItA| 320,000
INF=Re PNy -
ZEH| 15000 | O AtgiZntE 22 5,000,0008 * 33| 15,000
$=2 27,720 | O 7| MY === (AtHH|2|7%) 396,000,000 * 7% 27,720
KRS MR SRUIER R RS 600,000 600,000
3|9| 2 gH| 9,000 | O ME7tEH|
- "Hotsd 150,000 * 27 * 521 * 23 3,000
- IpN|AHEH 300,0009 * 121 * 23] 600
O HAX[ YO mE ZH]
- BItolH| 250,000 * 491 * 23| 2,000
- ME7tofy| 200,000 * 19l * 23] 400
O 2|olH| 30,0009 * 109! * 103 3,000
O H| 2,500 | O =20{H| 0
O =UoH| 250,000 * 29I * 53] 2,500
2 EEH| 1,200 | O AR HEZFYH| 120,0009¥ * 103 1,200
DIZEAFE X2 490,000 | O ZH XU =X A
- X832 240,000,000 * 174K 240,000
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|A|‘cé|i * k“-'f'—*l"‘-é:1 * ‘E*o"% q'ﬂ'(ﬂ') A % 7| x
- AHRE 240,000,000 * 17H1tA| 240,000
O TAIHAL &7 5,000,000 * 271 tX| 10,000
AL | 50,000 | O CIX|EetolEe{z| D1=3HREHEY) 50,000,000 50,000
M Ql2ffH| 800 | O QIzfH| H FolH| 80,000*10F =800,000 800
HALZ HH| 3000 O 318 8 Z18 1,500,000 * 23] 3,000
g8 1,500 | O 2AHE+=R 1,500,000 * 13| 1,500
FB 42,000 | O 37| HHY ++Z(AFRHI2[7%) 600,000,000* 7% 42,000
2SI EIXH|EEK|2IA L 600,000 600,000
Q17| 25,000 | O Q1| 2,019,4008 * 19 * 10¥ 20,194
O BEHO=Z 1,794,4008 * 18 * 60% * 23| 2,154
O M=% 60,000 * 1% * 108 600
O AlZtel22sY 2,052
3| 0| 2 A H| 21,160 | O ME7HEH|
- Mojg 400,0009 * 791 * 23| 5,600
- itY 150,000 * 474 * 591 * 23| 6,000
- X RHEH 240,0008 * 291 * 23] 960
O ALK of @2 ZH|
- oo H| 200,0009 * 591 * 23] 2,000
- @7tojH| 250,0008 * 491 * 23] 2,000
- ME7H0H| 200,000% * 291 * 43| 1,600
O 3|olH]| 30,000 * 109! * 103 3,000
el 1,400 | O ZAIR 350,000 (2A[ZH * 291 * 23] 1,400
ofH| 3,000 | O =Li0iH| 250,0008 * 29I * 63 3,000
AT EH| 1,940 | O 2R HEEFYUH| 194,0002 * 103 1,940
2| =4H| 2,000 | O 4012 200,0002 * 1& * 10¥ 2,000
DIZEALH X 510,000 | O EHXIHLX| 2|
- X8R 170,000,000 * 271 1tA| 340,000
- XAHRE 80,000,000 * 27| 1tA| 160,000
O TAI™AL EIHH] 5,000,000 * 27} 1tA| 10,000
TN QI H| 1,000 | O QIMH| S |QIH| 25,0008 * 103 * 43 2,000
HALZ HH| 3000 | O 318 ¥ &g 1,500,000 * 23] 3,000
NE=et= 1,500 | O 2|AEBSTTE 1,500,000 * 13 1,500
S - 30,000 | O 7| HLHE === AtYHH|2|5%) 600,000,000¥ * 5% 30,000
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7|2 - HHALY - TIALY - M RAY - HEF Bl AF(S) HEIE
HFEEE8Eal2HXnY 200,000 200,000
3|0l 2 &H| 11,250 | O ©=7HeEH|
- dojsg 300,000 * 52 * 23| 3,000
Cmopag 150,0008 * 17 * 59 * 23] 1,500
- MBJp RpRart 100,000*1 21*33] 300
O ALK o e A
~ AlojoiH| 250,000 * 59 * 23| 1,250
- HoHofH| 250,000 * 4921 * 23] 2,000
- ME7toiH| 200,000 * 12l * 12| 200
O 2/2fH| 30,000 * 102! * 103 3,000
ofH| 3,000 | O =LHOIH| 250,0008 * 29I * 63| 3,000
AR EH| 1,050 | O 2245 EETFYUH| 100,500 * 103 1,050
mesay| 700 | O ZALE 350,000(2A[ZF) * 2@l * 1%] 700
DIZEALH X & 130,000 | O AE2|E2 HX HZE X|H|
_ZoN 54 50,000
O 2F ZHX 4E HZE X|JH|
- BHSR 80,000,000*1 7§ T+ A 80,000
S M QIAfH| 1,500 | O E=AQIafH|
- XtZR| = 1,000,000 * 13 1,000
- QI 2 H A 10,0009 * 25% * 23] 500
SHALE E H 37,000 | O ®MZT 22 HAEY i A|H| 27,000,000*13] 27,000
O &1z % 318 10,000,000 10,000
52 14,000 | O S7| 2 === (AFLH|Q| 7%) 200,000,000 * 7% 14,000
X2aaz 1,500 | O SAHS+=E 1,500,000 * 12 1,500
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7|2 - HHALY - TIALY - M RAY - HEF Of| AF(SF) 4 FE X
HFELRHPTES (K| XA AL 150,000 150,000
3|02 &H| 9,000 | O HME7HEH|
- dolg 300,0008 * 5921 * 13| 1,500
- Hoted 150,000 * 17 * 591 * 23] 1,500
- P2t AESFY 100,000 * 191 * 33| 300
O ALK o e A
- &o|ofH| 250,000 * 491 * 13 1,000
- HIHofH| 250,000 * 392l * 23 1,500
- 2704 H| 200,000 * 121 * 13| 200
O 2|2olH] 30,0008 * 109! * 103 3,000
ofH| 4,000 | O 2oy 250,0009 * 29l * 83| 4,000
T QlafH| 5000 | O =AQIfH|
- A= M % 1,000,0008 * 33 3,000
- 2Ty 1,500,0008 * 13 1,500
- QI = HIE 50,000 * 102 500
neFHH| 5000 | O {IEfu=sH| 2,500,000 * 23 5,000
ALZ EH| 41,000 | O 2= gEHE1z % 31 8&) 10,000,000 * 13| 10,000
O HAHHEH| 20,000,000 * 13| 20,000
O 7|Et23H| 11,000,000 * 13| 11,000
AXH]| 8,500 | O YUXtH| 8,500,000 * 13 8,500
IZFAFRE X R 70,000 | O Azt X 2HX HZX| 2 14,000,000 * 57§ kA 70,000
g 7,500 | O 37| 2CHH S (AFRH|2| 7%) 150,000,000 * 5% 7,500
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I'%‘ * F‘_I' k“-'f'—*l‘%1 | 01I’.‘_*(?_*) ﬂ' % x
gJaE HRENERE 300,000 300,000
ICI{MIE{ 2 HALR 300,000 300,000
Of Hj 13,400 | O ZLHOIH]| 20,000x23|x5Hx 1271 & 2,400
O =ILHOH]| 250,000x4EH x63] 6,000
O =2oH| 2,500,000x2 % 5,000
L8| 38100 | O AIREE FYH| 600,000 600
O 2ZEQof 2| 1,500,000x25ea 37,500
=M FX|H| 3,000 | O Al W HHIFXE 250,000x127H & 3,000
INF=RIpPNT 9,000 | O XhFXtH| 750,000x127H & 9,000
PN e SE] 1,800 | O XAHRFEM 150,000x1271 & 1,800
W ARAH| 212,700 | O dtol D|Cjoju & 3,000,000x107H =213 30,000
O Xop7ts HAad O|fojns 1,500,000x147ff =12 21,000
O G423 MEHLH s 5,000,000x47 =21 20,000
O G4-E3EHx sot2| ugX| Y 2,000,000x37H = 0}2| 6,000
O YALEZGEHA AEIEY nSX|Y 3,000,000x37H 7| € 9,000
O OICIojZAt e R B s 3,000,000x57H =223 15,000
O D|CjojdEoly Adzst as 4,850,000x2%] 9,700
O OICIE™E of7tH|O| 3,000,000x57f =2 124 15,000
O NRZzEX|d3E 3,000,000x67H == 124 18,000
O M=F0r2 22 AN S 3,000,000x370 = 2 1 24 9,000
O TIOICIOME HEYIAWFT X Hit532 30,000
O Ha¥AHE OCjojd= 20,000
O OIHEOZHX C|X| Y HeAIY 10,000
2| o|H| 1,000 | O 2|9 H ZtE=| 7HE|H| 1,000
T2 21,000 | O 7| BB (ALRIH|2|7%) 300,000,000 * 7% 21,000
oL Ehx| 2 720,000 720,000
SHS O OtS- S| ZHX| 21 AL 270,000 270,000
HAZ HH| 5100 | O d&E7l/Z2HH| 5,100,000 * 14 5,100
D ZEALA X & 210,000 | O X|&H]| 70,000,000 * 37§ A} 210,000
2|92 gH| 9,000 | O MAr=E 300,0009 * 5 * 33| 4,500
O ®ALOH| 250,0002 * 3@ * 33| 2,250
O ™MEZtetE N XHEH| 150,000& * 3@ * 13 450
O 2|elH| 30,0009 * 209 * 33 1,800
M Ql4f{H| 18,000 | O AtEX|EH] 36,0008 * 500 18,000
o H| 3,000 | O =LH0iH| 3,000,000 * 14 3,000
2T EH| 6,000 | O MMEE AMEEE FH| 500,0008 * 12¥ 6,000
T2 18,900 | O &7|HCHE =5 (AFRIH|27%) 270,000,0009 * 7% 18,900
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7|2 - HHALY - TIALY - M RAY - HEF Ol AFSH 4 FE X
CGIMIE|A| B S X[ 2t | AL 210,000 210,000
AT EH| 210,000 | O LEMKS ACHO| ZE= 11 ElOpdiA 4,000,000 * 27Cf 108,000
O Eopj| = njof B 2lopd 2,300,000 * 27CH 62,100
O EOB0] I L= 2 HIGHE 114 2opdia 1,100,0008 * 27CH 29,700
O HEAIZE gF 2tojdA 3,400,0009 * 3CH 10,200
HEFOHLoIRBHEZT A I 140,000 140,000
AL 2 H 79,400 | O HALZEH| 79,400
- Yub2 A 56,000
- MA2GE 10,000
- ZEH| 12,000
- AT 7,0008 * 2 * 100 1,400
243 51,000 | O 243 51,000
- W2 XEE 20,000
- S¢EdR 30,000
- AR EH 100,0008 * 2¢ *5Y 1,000
AT EH| 2,600 | O 22 FH|
- AR EFYUH| 325,0008 * 83| 2,600
B 7,000 | O 37| 2t =2 (AFRIH|2|5%) 140,000,0008 * 5% 7,000
TFol-Hp e EYY RPER SRR 60,000 60,000
WEZ Y| 48,000 | O WMEZAH| 48,000
- N2 A 480,0002 * 107HAF * 103] 48,000
23 4,000 | O B3 4,000
- EQ8 400,000 * 109 4,000
A DEH| 4,000 | O A2 ZEH| 4,000
- ADEAUH]| 400,000 * 103 4,000
3|22 HH| 1,000 | O 2|2 2H| 1,000
- 2| o|H] 250,0008 * 43 1,000
SR 3000 | O S7| T2 (A H|2|5%) 60,000,0008 * 5% 3,000
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of| £+(2h)

CAHERIHHESTEHISIA A

40,000

40,000

=43

I_

2B EH|

ot
10
Ho
(01
£

0%
>
Ofot
HT
o

20,000

4,000

1,500
12,500

2,000

O O O O O O O

4,000,000 * 58

400,000& * 102]

300,0008 * 52
4,000,000 * 14
4,000,000 * 14

1,940,000 * 14

8,000% * 70Y
2,000,000 * 14
40,000,0008 * 5%

20,000

4,000
1,500
4,000
4,000
1,940

560
2,000
2,000




